

County Distribution Detail Report through 04/04/2023

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$0.81	\$0.44	0.70	\$0.31
2/2023	884	2,077	24	2,985	\$3,731.25	\$113.88	\$3,617.37	0.70	\$2,532.16
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	ıl:	\$2,535.97
							Adjustmen	Adjustment:	
							Total Amo	unt:	\$2,535.97
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	3	0	3	\$3.75	\$8.69	\$-4.94	0.70	\$-3.46
2/2023	3,059	10,998	400	14,457	\$18,071.25	\$381.54	\$17,689.71	0.70	\$12,382.80
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	ıl:	\$12,384.59
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$12,384.59
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.31	\$-0.31	0.70	\$-0.22
2/2023	846	1,209	4	2,059	\$2,573.75	\$57.95	\$2,515.80	0.70	\$1,761.06
							Entity Tota	ıl:	\$1,760.84
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,760.84
5									

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$1.69	\$-1.69	0.70	\$-1.18
2/2023	1,535	4,185	78	5,798	\$7,247.50	\$147.46	\$7,100.04	0.70	\$4,970.03
							Entity Tota	al:	\$4,968.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,968.85
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	4	0	4	\$5.00	\$3.02	\$1.98	0.70	\$1.39
2/2023	9,036	22,602	1,337	32,975	\$41,218.75	\$858.92	\$40,359.83	0.70	\$28,251.88
12/2022	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
							Entity Tota	al:	\$28,260.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,260.27
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	8	0	8	\$10.00	\$10.79	\$-0.79	0.70	\$-0.55
2/2023	7,799	27,601	1,093	36,493	\$45,616.25	\$994.95	\$44,621.30	0.70	\$31,234.91
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$31,240.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,240.49
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$0.96	\$1.54	0.70	\$1.08
2/2023	1,414	4,036	56	5,506	\$6,882.50	\$144.82	\$6,737.68	0.70	\$4,716.38
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$4,723.59
							Adjustmer	nt:	\$0.00

Total Amount:	\$4,723.59
---------------	------------

ъ.		
ы	IIII	ĸ

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2023	512	473	1	986	\$1,232.50	\$24.76	\$1,207.74	0.70	\$845.42
							Entity Tota	l:	\$845.42
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$845.42
Butte									
Demonths a Dealest	T-1	Whater I have	VOID	Tatalillana	0	Admin For	Net Ownell and	F414	Fortifice Assessment

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	6	0	6	\$7.50	\$1.50	\$6.00	0.70	\$4.20
2/2023	1,914	6,915	143	8,972	\$11,215.00	\$235.31	\$10,979.69	0.70	\$7,685.78
12/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
							Entity Tot	al:	\$7,694.36

Adjustment: \$0.00

Total Amount: \$7,694.36

Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	78	0	78	\$97.50	\$0.33	\$97.17	0.70	\$68.02
2/2023	577	1,335	19	1,931	\$2,413.75	\$49.80	\$2,363.95	0.70	\$1,654.77
12/2022	0	13	0	13	\$16.25	\$0.00	\$16.25	0.70	\$11.38
							Entity T	otal:	\$1,734.17

Adjustment: \$0.00

\$1,734.17 **Total Amount:**

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$1.17	\$0.08	0.70	\$0.06
2/2023	2,255	5,645	38	7,938	\$9,922.50	\$203.37	\$9,719.13	0.70	\$6,803.39
12/2022	0	16	0	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00

\$6,817.45 **Entity Total:**

Adjustment:	\$0.00

Total Amount:

\$30,238.41

Total Amount:	\$6,817.45
	Ψυ,υυ

City of	Box	Elder,	Mead	e Co
---------	-----	--------	------	------

City of Box Elder, Mo	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2023	36	2,970	124	3,130	\$3,912.50	\$78.44	\$3,834.06	0.70	\$2,683.84
							Entity Tota	al:	\$2,683.84
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,683.84
City of North Sioux (City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.75	\$-0.75	0.70	\$-0.53
2/2023	527	3,135	82	3,744	\$4,680.00	\$110.09	\$4,569.91	0.70	\$3,198.94
							Entity Tota	al:	\$3,198.41
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,198.41
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$4.10	\$-4.10	0.70	\$-2.87
2/2023	2,953	11,600	252	14,805	\$18,506.25	\$379.55	\$18,126.70	0.70	\$12,688.69
							Entity Tota	al:	\$12,685.82
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$12,685.82
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$19.46	\$-19.46	0.70	\$-13.62
2/2023	3,884	28,845	2,577	35,306	\$44,132.50	\$915.31	\$43,217.19	0.70	\$30,252.03
							Entity Tota	al:	\$30,238.41
							Adjustme	nt:	\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.70	\$-0.70	0.70	\$-0.49
2/2023	1,060	2,445	57	3,562	\$4,452.50	\$96.26	\$4,356.24	0.70	\$3,049.37
							Entity Total	al:	\$3,048.88
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,048.88
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	4	0	4	\$5.00	\$2.39	\$2.61	0.70	\$1.83
2/2023	1,215	7,867	252	9,334	\$11,667.50	\$264.36	\$11,403.14	0.70	\$7,982.20
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$7,990.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,990.16
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$13.45	\$-10.95	0.70	\$-7.67
2/2023	5,567	20,374	874	26,815	\$33,518.75	\$710.13	\$32,808.62	0.70	\$22,966.03
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	al:	\$22,961.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$22,961.86
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$0.76	\$0.49	0.70	\$0.34
2/2023	890	960	377	2,227	\$2,783.75	\$58.00	\$2,725.75	0.70	\$1,908.03
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	al:	\$1,913.62

Adjustment:	\$0.00
Total Amount:	\$1,913.62

\sim	
	19161

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$1.17	\$0.08	0.70	\$0.06
2/2023	2,804	6,446	58	9,308	\$11,635.00	\$261.79	\$11,373.21	0.70	\$7,961.25
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tot Adjustme		\$7,964.81 \$0.00
							Total Amo	ount:	\$7,964.81
Davison									

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	6	0	6	\$7.50	\$4.74	\$2.76	0.70	\$1.93
2/2023	4,013	14,855	565	19,433	\$24,291.25	\$507.14	\$23,784.11	0.70	\$16,648.88
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity T	Γotal:	\$16,656.06
							Adjustr	ment:	\$0.00

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$2.63	\$-0.13	0.70	\$-0.09
2/2023	1,630	3,649	131	5,410	\$6,762.50	\$138.32	\$6,624.18	0.70	\$4,636.93
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity ⁻	Total:	\$4,642.97

Adjustment: \$0.00 **Total Amount:**

Total Amount:

\$4,642.97

\$16,656.06

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
			Lines					Percent	
1/2023	0	1	0	1	\$1.25	\$0.43	\$0.82	0.70	\$0.57
2/2023	1,329	3,110	118	4,557	\$5,696.25	\$119.21	\$5,577.04	0.70	\$3,903.93

12/2022	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
							Entity Tota	al:	\$3,911.50
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,911.50
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.41	\$-0.41	0.70	\$-0.29
2/2023	1,043	2,226	8	3,277	\$4,096.25	\$86.32	\$4,009.93	0.70	\$2,806.95
							Entity Tota	al:	\$2,806.66
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,806.66
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	13	0	13	\$16.25	\$1.03	\$15.22	0.70	\$10.65
2/2023	1,031	2,921	65	4,017	\$5,021.25	\$101.56	\$4,919.69	0.70	\$3,443.78
12/2022	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
							Entity Tota	al:	\$3,464.93
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,464.93
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	9	0	9	\$11.25	\$1.18	\$10.07	0.70	\$7.05
2/2023	2,587	4,994	32	7,613	\$9,516.25	\$195.12	\$9,321.13	0.70	\$6,524.79
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	al:	\$6,537.09
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,537.09
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2023	0	0	0	0	\$0.00	\$0.58	\$-0.58	0.70	\$-0.41
2/2023	627	1,574	25	2,226	\$2,782.50	\$56.75	\$2,725.75	0.70	\$1,908.03
							Entity Tota	al:	\$1,907.62
							Adjustmer		\$0.00
							Total Amo		\$1,907.62
Grant									·
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$1.07	\$1.43	0.70	\$1.00
2/2023	1,570	5,516	242	7,328	\$9,160.00	\$214.30	\$8,945.70	0.70	\$6,261.99
							Entity Tota	al:	\$6,262.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,262.99
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$0.40	\$0.85	0.70	\$0.60
2/2023	1,439	3,617	11	5,067	\$6,333.75	\$148.36	\$6,185.39	0.70	\$4,329.77
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	al:	\$4,333.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,333.87
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.71	\$-0.71	0.70	\$-0.50
2/2023	889	1,356	14	2,259	\$2,823.75	\$57.65	\$2,766.10	0.70	\$1,936.27
							Entity Tota	al:	\$1,935.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,935.77
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2023	0	1	0	1	\$1.25	\$0.28	\$0.97	0.70	\$0.68
2/2023	1,247	4,032	140	5,419	\$6,773.75	\$138.54	\$6,635.21	0.70	\$4,644.65
12/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
							Entity Tota	al:	\$4,649.71
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,649.71
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.91	\$-0.91	0.70	\$-0.64
2/2023	925	2,667	46	3,638	\$4,547.50	\$100.87	\$4,446.63	0.70	\$3,112.64
							Entity Tota	al:	\$3,112.00
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,112.00
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
2/2023	712	3,161	68	3,941	\$4,926.25	\$110.04	\$4,816.21	0.70	\$3,371.35
							Entity Tota	al:	\$3,371.33
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,371.33
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.07	\$-0.07	0.70	\$-0.05
2/2023	608	865	7	1,480	\$1,850.00	\$48.84	\$1,801.16	0.70	\$1,260.81
							Entity Tota	al:	\$1,260.76
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,260.76
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2023	0	3	0	3	\$3.75	\$0.10	\$3.65	0.70	\$2.56
2/2023	524	3,146	219	3,889	\$4,861.25	\$139.08	\$4,722.17	0.70	\$3,305.52
12/2022	0	10	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75
							Entity Tota	al:	\$3,316.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,316.83
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$1.12	\$1.38	0.70	\$0.97
2/2023	2,393	5,297	82	7,772	\$9,715.00	\$198.05	\$9,516.95	0.70	\$6,661.87
12/2022	0	11	0	11	\$13.75	\$0.00	\$13.75	0.70	\$9.63
							Entity Tota	al:	\$6,672.47
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,672.47
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.48	\$-0.48	0.70	\$-0.34
2/2023	566	1,085	15	1,666	\$2,082.50	\$42.70	\$2,039.80	0.70	\$1,427.86
							Entity Tota	al:	\$1,427.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,427.52
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$0.00	Admin Fee \$0.31	Net Surcharge \$-0.31		Entity Amount \$-0.22
Reporting Period			Lines					Percent	
Reporting Period	0	0	Lines 0	0	\$0.00	\$0.31	\$-0.31	0.70 0.70	\$-0.22
Reporting Period	0	0	Lines 0	0	\$0.00	\$0.31	\$-0.31 \$1,793.92	0.70 0.70	\$-0.22 \$1,255.74
Reporting Period	0	0	Lines 0	0	\$0.00	\$0.31	\$-0.31 \$1,793.92 Entity Tota	0.70 0.70	\$-0.22 \$1,255.74 \$1,255.52

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.98	\$-0.98	0.70	\$-0.69
2/2023	706	1,384	23	2,113	\$2,641.25	\$53.07	\$2,588.18	0.70	\$1,811.73
							Entity Tot	al:	\$1,811.04
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,811.04
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.74	\$-0.74	0.70	\$-0.52
2/2023	422	706	9	1,137	\$1,421.25	\$29.79	\$1,391.46	0.70	\$974.02
							Entity Tot	al:	\$973.50
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$973.50
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$3.97	\$-1.47	0.70	\$-1.03
2/2023	746	3,987	308	5,041	\$6,301.25	\$147.21	\$6,154.04	0.70	\$4,307.83
12/2022	0	9	0	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88
							Entity Tot	al:	\$4,314.68
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,314.68
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$1.75	\$-0.50	0.70	\$-0.35
2/2023	2,095	9,257	179	11,531	\$14,413.75	\$319.15	\$14,094.60	0.70	\$9,866.22
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tot	al:	\$9,869.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,869.37
Lawrence									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	4	0	4	\$5.00	\$3.43	\$1.57	0.70	\$1.10
2/2023	5,817	18,656	425	24,898	\$31,122.50	\$656.21	\$30,466.29	0.70	\$21,326.40
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$21,333.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,333.63
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	8	0	8	\$10.00	\$5.58	\$4.42	0.70	\$3.09
2/2023	2,843	25,914	2,664	31,421	\$39,276.25	\$862.73	\$38,413.52	0.70	\$26,889.46
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	al:	\$26,898.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$26,898.68
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.55	\$-0.55	0.70	\$-0.39
2/2023	986	1,852	389	3,227	\$4,033.75	\$86.14	\$3,947.61	0.70	\$2,763.33
							Entity Tota	al:	\$2,762.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,762.94
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$2.91	\$-2.91	0.70	\$-2.04
2/2023	1,270	3,064	59	4,393	\$5,491.25	\$124.38	\$5,366.87	0.70	\$3,756.81
							Entity Tota	al:	\$3,754.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,754.77

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	3	0	3	\$3.75	\$0.23	\$3.52	0.70	\$2.46
2/2023	1,552	4,406	81	6,039	\$7,548.75	\$154.91	\$7,393.84	0.70	\$5,175.69
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Total	al:	\$5,183.40
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,183.40
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	28	0	28	\$35.00	\$0.33	\$34.67	0.70	\$24.27
2/2023	825	1,576	12	2,413	\$3,016.25	\$71.43	\$2,944.82	0.70	\$2,061.37
12/2022	0	19	0	19	\$23.75	\$0.00	\$23.75	0.70	\$16.63
							Entity Total	al:	\$2,102.27
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,102.27
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	3	0	3	\$3.75	\$4.65	\$-0.90	0.70	\$-0.63
2/2023	2,672	19,538	207	22,417	\$28,021.25	\$602.22	\$27,419.03	0.70	\$19,193.32
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	al:	\$19,196.19
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$19,196.19
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$0.31	\$0.94	0.70	\$0.66
2/2023	506	741	8	1,255	\$1,568.75	\$32.07	\$1,536.68	0.70	\$1,075.68
12/2022	0	9	0	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88

Entity Total:	\$1,084.22
Adjustment:	\$0.00

ΝЛ	ın	Δr
IVI		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.51	\$-0.51	0.70	\$-0.36
2/2023	857	1,715	17	2,589	\$3,236.25	\$67.01	\$3,169.24	0.70	\$2,218.47
							Entity To	Entity Total:	
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$2,218.11
Minnehaha									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	19	0	19	\$23.75	\$94.89	\$-71.14	0.70	\$-49.80
2/2023	32,764	160,458	7,979	201,201	\$251,501.25	\$5,487.54	\$246,013.71	0.70	\$172,209.60
12/2022	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
							Entity Tot	al:	\$172,166.80

Adjustment: \$0.00

Total Amount: \$172,166.80

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2023	0	1	0	1	\$1.25	\$0.97	\$0.28	0.70	\$0.20	
2/2023	784	4,909	197	5,890	\$7,362.50	\$170.88	\$7,191.62	0.70	\$5,034.13	
12/2022	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13	

Entity Total: \$5,040.46 Adjustment: \$0.00

Total Amount: \$5,040.46

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	18	0	18	\$22.50	\$28.76	\$-6.26	0.70	\$-4.38

2/2023 12/2022	19,582 0	87,789 8	3,110 0	110,481 8	\$138,101.25 \$10.00	\$2,952.13 \$0.00	\$135,149.12 \$10.00	0.70 0.70	\$94,604.38 \$7.00
							Entity Tota	al:	\$94,607.00
							Adjustme		\$0.00
							Total Amo	unt:	\$94,607.00
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.33	\$-0.33	0.70	\$-0.23
2/2023	1,552	2,289	9	3,850	\$4,812.50	\$107.40	\$4,705.10	0.70	\$3,293.57
							Entity Total	al:	\$3,293.34
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,293.34
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.48	\$-0.48	0.70	\$-0.34
2/2023	922	1,983	15	2,920	\$3,650.00	\$73.63	\$3,576.37	0.70	\$2,503.46
							Entity Tota	al:	\$2,503.12
							Adjustme		\$0.00
							Total Amo	unt:	\$2,503.12
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$1.58	\$-1.58	0.70	\$-1.11
2/2023	2,885	5,300	25	8,210	\$10,262.50	\$230.84	\$10,031.66	0.70	\$7,022.16
							Entity Total	al:	\$7,021.05
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,021.05
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.33	\$-0.33	0.70	\$-0.23

2/2023	681	1,819	23	2,523	\$3,153.75	\$63.92	\$3,089.83	0.70	\$2,162.88
							Entity Tota	al:	\$2,162.65
							Adjustme	nt:	\$0.00
							Total Amount:		\$2,162.65
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	2	0	2	\$2.50	\$2.27	\$0.23	0.70	\$0.16
2/2023	1,527	4,625	96	6,248	\$7,810.00	\$160.51	\$7,649.49	0.70	\$5,354.64
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	al:	\$5,358.30
							Adjustment: Total Amount:		\$0.00
									\$5,358.30
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.79	\$-0.79	0.70	\$-0.55
2/2023	607	2,298	78	2,983	\$3,728.75	\$77.08	\$3,651.67	0.70	\$2,556.17
							Entity Total	al:	\$2,555.62
							Adjustment: Total Amount:		\$0.00
									\$2,555.62
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
2/2023	520	1,225	7	1,752	\$2,190.00	\$43.88	\$2,146.12	0.70	\$1,502.28
							Entity Tota	al:	\$1,502.26
							Adjustment: Total Amount:		\$0.00
									\$1,502.26
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2023	0	125	5	130	\$162.50	\$13.65	\$148.85	0.70	\$104.20

							Entity Total: Adjustment: Total Amount:		\$104.20
									\$0.00
									\$104.20
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$1.21	\$0.04	0.70	\$0.03
2/2023	1,968	4,105	46	6,119	\$7,648.75	\$156.78	\$7,491.97	0.70	\$5,244.38
12/2022	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
							Entity Tota	al:	\$5,248.79
							Adjustment: Total Amount:		\$0.00
									\$5,248.79
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	1	0	1	\$1.25	\$1.99	\$-0.74	0.70	\$-0.52
2/2023	1,575	6,638	166	8,379	\$10,473.75	\$216.37	\$10,257.38	0.70	\$7,180.17
							Entity Tota	al:	\$7,179.65
							Adjustment: Total Amount:		\$0.00
									\$7,179.65
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	0	0	0	\$0.00	\$9.28	\$-9.28	0.70	\$-6.50
2/2023	2,045	11,548	707	14,300	\$17,875.00	\$437.24	\$17,437.76	0.70	\$12,206.43
							Entity Total:		\$12,199.93
							Adjustment: Total Amount:		\$0.00
									\$12,199.93
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2023	0	7	0	7	\$8.75	\$0.33	\$8.42	0.70	\$5.89
2/2023	1,552	3,660	438	5,650	\$7,062.50	\$144.98	\$6,917.52	0.70	\$4,842.26

							Adjustment: Total Amount:		\$0.00			
									\$4,861.28			
Yankton												
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount			
1/2023	0	6	0	6	\$7.50	\$2.62	\$4.88	0.70	\$3.42			
2/2023	3,861	17,584	385	21,830	\$27,287.50	\$582.19	\$26,705.31	0.70	\$18,693.72			
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25			
							Entity Total:		\$18,702.39			
							Adjustmer	nt:	\$0.00			
							Total Amo	unt:	\$18,702.39			
TOTALS	166,558	646,391	27,309	840,258	\$1,050,322.50	\$22,912.54	\$1,027,409.96					

15

\$18.75

\$0.00

\$18.75

Entity Total:

0.70

\$13.13

\$4,861.28

12/2022

0

15

0